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PeweHuve 3a4a4 Ha
HaxoXxxaeHuve
naowaau npasMoyrosibHoro
TpeyroJibHuKa




Q) kaTe

dopmMyna nnaowagn NpaMoOyrosibHOro
TpeyrosbHuKa

S np. Tp. = Snp. :

Snp.tp. =axb:
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CaMmocTosTesnibHaa paboTta




caMmonpoBepkKa

©)

PeweHKne PeweHne

1) 40 x 56 = 2240 (cM2) - S np. 1) 18 x 24 = 432 (aM2) - S np.
2) 16 x 8 : 2 = 64 (am2) - Snp.

2) 40 x 18 : 2 = 360 (cM2) - S np.Tp ™

3) 2240 + 360 = 2600 (eM2) =S - | 3y 435 _ 64 = 368 (am2) - S

O : 2600 cM2
TBET CM OTBeT : 368 M2




PellinTb 3aaa4y

CyMMa OJIMH KaTeToB
NPAMOYro/ZIbHOIO TpeyroabHUKa
paBHa 2/ CM, Npu4yeM AnnHA NepBOro
KaTteTa 6osblie ATMHbI BTOPOro
KaTteTa Ha 5 cM. HanaunTte nnowaab
3TOr0 TpeyroabHuKa.




Tor ypoka




